

STUDIA MATHEMATICA 125 (2) (1997)

On the L_1 -convergence of Fourier series

by

S. FRIDLI (Budapest)

Abstract. Since the trigonometric Fourier series of an integrable function does not necessarily converge to the function in the mean, several additional conditions have been devised to guarantee the convergence. For instance, sufficient conditions can be constructed by using the Fourier coefficients or the integral modulus of the corresponding function. In this paper we give a Hardy-Karamata type Tauberian condition on the Fourier coefficients and prove that it implies the convergence of the Fourier series in integral norm, almost everywhere, and if the function itself is in the real Hardy space, then also in the Hardy norm. We also compare it to the previously known conditions.

Main result. Let $L_1 = L_1[-\pi, \pi]$ denote the space of complex-valued 2π -periodic functions that are integrable on $[-\pi, \pi]$ with the usual norm denoted by $\|\cdot\|_1$. We use the conventional notations for the Fourier coefficients and for the Fourier partial sums with respect to the complex and the real trigonometric systems, i.e. for any $f \in L_1$,

$$S_n f(t) = \sum_{|k|=0}^n \widehat{f}(k) \exp(ikt)$$

$$= a_0 + \sum_{k=1}^n (a_k \cos kt + b_k \sin kt) \quad (-\pi \le t \le \pi, \ n \in \mathbb{N}).$$

 \mathbb{N} , \mathbb{Z} , \mathbb{C} stand for the set of natural numbers, integers and complex numbers respectively.

Let [x] denote the integer part of the real number x and for any sequence $(c_k, k \in \mathbb{Z})$ of complex numbers let $\Delta_k c = c_k - c_{k+1}$ if k is non-negative and $\Delta_k c = c_k - c_{k+1}$ if k is negative.

¹⁹⁹¹ Mathematics Subject Classification: Primary 42A20; Secondary 42A16, 42A32, 42A50.

Key words and phrases: Fourier series, L_1 -convergence, a.e. convergence.

This research was supported by the Hungarian National Science Foundation (OTKA) under grant T 020457, and was completed during the author's visit at the Dept. of Math. of The University of Tennessee, Knoxville in 1995/96.

Then our main result reads as follows.

THEOREM 1. Let $f \in L_1$ be such that

(1)
$$\lim_{\lambda \to 1^{+}} \overline{\lim_{n \to \infty}} \sum_{|k|=n+1}^{\lceil \lambda n \rceil} |\Delta \widehat{f}(k)| \log^{+} |k \Delta \widehat{f}(k)| = 0.$$

Then

(i) $\lim_{n\to\infty} ||f - S_n f||_1 = 0$ if and only if $\lim_{|n|\to\infty} \widehat{f}(n) \log |n| = 0$,

(ii)
$$f(x) = g(x)/x$$
 (0 < $|x| \le \pi$) where $g \in L_2$.

Remark 1. It is easy to see that for the real trigonometric system condition (1) has the following equivalent form:

$$\lim_{\lambda \to 1^+} \overline{\lim_{n \to \infty}} \sum_{k=n+1}^{[\lambda n]} (|\Delta a_k| \log^+(k|\Delta a_k|) + |\Delta b_k| \log^+(k|\Delta b_k|)) = 0.$$

We note that the proof of Theorem 1 will be presented for this version, i.e. for the real trigonometric system, in order that we can point out the difference between the behavior of the even and the odd parts of the series.

Remark 2. The decomposition in (ii) of Theorem 1 provides information about the structure of integrable functions that satisfy condition (1). We note that by Carleson's Theorem and by the proof of (ii) one can deduce the a.e. convergence of $S_n f$. However, this also follows from a condition that is weaker than (1). Namely, Chen [4] proved that if f is an integrable function for which

$$\lim_{\lambda \to 1^+} \overline{\lim_{n \to \infty}} \sum_{|k|=n+1}^{[\lambda n]} |\Delta \widehat{f}(k)| = 0$$

then the Fourier series of f converges almost everywhere.

Let H denote the real Hardy space on $[-\pi,\pi]$. Recall that H is the collection of those real-valued f in L_1 for which also the trigonometric conjugate \widetilde{f} is integrable, and the norm is defined as $\|f\|_H = \|f\|_1 + \|\widetilde{f}\|_1$. The following corollary is an immediate consequence of Theorem 1 and of the well known relation between the Fourier coefficients of the function and of its trigonometric conjugate.

Corollary 1. Let $f \in H$ with $Sf(t) = a_0 + \sum_{k=1}^{\infty} (a_k \cos kt + b_k \sin kt)$. If

$$\lim_{\lambda \to 1^+} \overline{\lim}_{n \to \infty} \sum_{k=n+1}^{[\lambda n]} (|\Delta a_k| \log^+(k|\Delta a_k|) + |\Delta b_k| \log^+(k|\Delta b_k|)) = 0$$

then

$$\lim_{n\to\infty} ||f-S_n f||_H = 0 \quad \text{if and only if} \quad \lim_{|n|\to\infty} (|a_n|+|b_n|)\log|n| = 0.$$

Throughout this paper C will always denote a positive constant not necessarily the same in different occurrences.

Comparison with previous conditions. We note that the classical convergence conditions on the Fourier coefficients given by Young [19], Kolmogorov [9], Sidon [13] and the more recent ones by Telyakovskii [18], Fomin [5], Č. V. Stanojević and V. B. Stanojević [16] all generate the equivalence in (i) of Theorem 1. This led to the concept of L_1 -convergence classes. Let $\mathcal F$ denote the set of sequences of Fourier coefficients of integrable functions. Then a subset $\mathcal C$ of $\mathcal F$ is called an L_1 -convergence class if for any $f \in L_1$ with $(\widehat f(k), k \in \mathbb Z) \in \mathcal C$ we have

$$\lim_{n\to\infty} \|S_n f - f\|_1 = 0 \quad \text{if and only if} \quad \lim_{|n|\to\infty} \widehat{f}(n) \log |n| = 0.$$

Using this terminology we may say by Theorem 1 that condition (1) induces an L_1 -convergence class. Let us denote this class by S.

Thus $(c_k, k \in \mathbb{Z}) \in \mathcal{S}$ if and only if there exists $f \in L_1$ such that

$$\widehat{f}(k) = c_k \quad (k \in \mathbb{Z}) \quad \text{and} \quad \lim_{\lambda \to 1^+} \overline{\lim_{n \to \infty}} \sum_{|k|=n}^{[\lambda n]} |\Delta c_k| \log^+ |k \Delta c_k| = 0.$$

First we show that our condition is the best possible for lacunary Fourier series and for the case when the Fourier coefficients of a real function form a decreasing sequence. By the latter we mean (in terms of the real trigonometric system) that $(a_n, n \in \mathbb{N})$ and $(b_{n+1}, n \in \mathbb{N})$ are decreasing sequences. It is known (see e.g. [20]) that in both of these cases $\lim_{|n| \to \infty} \widehat{f}(n) \log |n| = 0$ itself is sufficient to conclude the L_1 -convergence of the corresponding Fourier series. Thus the best we can expect is that (1) does not add an unnecessary restriction to that. Indeed, as is easy to see, if the coefficient sequence is lacunary then (1) reduces to

$$\lim_{|n|\to\infty} |\Delta \widehat{f}(n)| \log^+ |n\Delta \widehat{f}(n)| = 0,$$

which is even weaker than $\lim_{n\to\infty} \widehat{f}(n) \log |n| = 0$. Similarly, if $(a_n, n \in \mathbb{N})$ and $(b_{n+1}, n \in \mathbb{N})$ are decreasing then

$$\sum_{k|=n+1}^{[\lambda n]} (|\Delta a_k| \log^+ |k\Delta a_k| + |\Delta b_k| \log^+ |k\Delta b_k|)$$

$$\leq C((a_{n+1} - a_{[\lambda n]+1}) \log n + (b_{n+1} - b_{[\lambda n]+1}) \log n)$$

where C does not depend on n. Consequently, (1) follows from $\lim_{n\to\infty}(|a_n|+|b_n|)\log |n|=0$.

At the beginning of this section we listed papers of several authors that contain L_1 -convergence classes. In the last decade especially Stanojević and his coauthors have done much research in this field (see [2], [3], [7], [14], [15]). They have constructed L_1 -convergence classes that contain those in [19], [9], [13], [18], [5], [16]. (For a summary of previous conditions we refer to [4] and [17].) The final version of their results (see [7]) reads as follows. It is shown in [7] that \mathcal{L}_p is an L_1 -convergence class for any $1 \leq p < \infty$ where \mathcal{L}_p denotes the set of sequences $(\widehat{f}_k, k \in \mathbb{Z})$ of Fourier coefficients of integrable functions for which

(2)
$$\lim_{\lambda \to 1^+} \overline{\lim_{n \to \infty}} \sum_{|k|=n+1}^{[\lambda n]} k^{p-1} |\Delta \widehat{f}(k)|^p < \infty \quad (p > 1)$$

and

(3)
$$\lim_{\lambda \to 1^+} \overline{\lim_{n \to \infty}} \sum_{|k|=n+1}^{[\lambda n]} |\Delta \widehat{f}(k)| \log |k| = 0 \quad (p=1).$$

We show that S contains all of these classes:

THEOREM 2.

$$\mathcal{S}\supsetneq\bigcup_{p\geq 1}\mathcal{L}_p.$$

Remark 3. The following condition was used in earlier papers of Stanojević and his coauthors (see e.g. [14], [3]):

(4)
$$\lim_{\lambda \to 1^+} \overline{\lim_{n \to \infty}} \sum_{|k|=n+1}^{[\lambda n]} k^{p-1} |\Delta \widehat{f}(k)|^p = 0.$$

We note that it was observed by Aubertin and Fournier [1] that although (2) looks weaker than (4) they are essentially equivalent. Namely (see [1]), if (2) holds for a sequence with some p then the sequence satisfies (4) with p replaced by any q smaller than p. Furthermore, it is easy to show (see e.g. [4]) that (2) is equivalent to

$$\overline{\lim}_{n\to\infty} \sum_{|k|=n+1}^{2n} k^{p-1} |\Delta \widehat{f}(k)|^p < \infty.$$

Finally, we note that several other conditions have been constructed implying the L_1 -convergence of Fourier series. The most recent ones can be found in [7] and [1]. Here we only note that their structure is substantially

different from, and more complicated than, that of (1). Therefore they are quite difficult to check, and it would also be difficult to compare them.

Proofs. Let D_k and \widetilde{D}_k denote the kth $(k \in \mathbb{N})$ trigonometric and conjugate trigonometric Dirichlet kernel resp. The following Sidon type inequality holds true for the conjugate kernels.

Lemma 1. There exists C > 0 such that

(5)
$$\left\| \sum_{k=K}^{N} c_k \widetilde{D}_k \right\|_1 \le \sum_{k=K}^{N} |c_k| \left(1 + \log^+ \frac{|c_k|}{(N - K + 1)^{-1} \sum_{j=K}^{N} |c_j|} \right)$$

for any $c_k \in \mathbb{C}$ with $\sum_{k=K}^{N} c_k = 0$ $(K, N \in \mathbb{N})$.

(Here and later 0/0 will be considered to be equal to 1.)

Proof. Only an outline will be given because the proof is similar to the one of the corresponding result for the D_k 's (see [6]). Let us start with the Sidon type inequality proved by Schipp [11] for complex trigonometric kernels. Set $\mathcal{D}_k(t) = \sum_{i=0}^n \exp ijt \ (k \in \mathbb{N}, i = \sqrt{-1})$. Then (see [11])

(6)
$$\frac{1}{K-N+1} \left\| \sum_{k=K}^{N} c_k \mathcal{D}_k \right\|_1 \le C \max_{K \le k \le N} |c_k| \quad (c_k \in \mathbb{C}, K, N \in \mathbb{N})$$

provided $\sum_{k=K}^{N} c_k = 0$. Schipp used this result to prove a Sidon type inequality for the D_k 's employing the concept of atomic decomposition of the real non-periodic Hardy space. For this last concept we refer to [8]. (Concerning the method of proof see also [12].) Based on Schipp's result the author proved the following shifted Sidon type inequality in [6] by using the notion of atomic decomposition, certain norm inequalities and the uniform boundedness of the L_1 -norms of the Fejér kernels:

(7)
$$\left\| \sum_{k=K}^{N} c_k D_k \right\|_1 \le C \left(\log \frac{N}{N - K + 1} \left| \sum_{k=K}^{N} c_k \right| + \sum_{k=K}^{N} |c_k| \left(1 + \log^+ \frac{|c_k|}{(N - K + 1)^{-1} \sum_{j=K}^{N} |c_j|} \right) \right)$$

 $(c_k \in \mathbb{C}, K, N \in \mathbb{N})$. Then taking the imaginary part in (6) one can derive (5) by repeating the considerations used in [11] and [6] to prove (7). The only difference is the necessity of the additional condition $\sum_{k=K}^{N} c_k = 0$. The reason behind it is that the L_1 -norms of the arithmetic means of the conjugate kernels are not uniformly bounded.

LEMMA 2. There exist absolute positive constants C_1 , C_2 such that for any $K \leq N$ $(K, N \in \mathbb{N})$ we have

$$C_1 \log(N - K + 1) \le \frac{1}{N - K + 1} \left\| \sum_{k=K}^{N} (\widetilde{D}_k - \widetilde{D}_K) \right\|_1 \le C_2 \log(N - K + 1).$$

 \Pr oof. We may suppose that N-K is large enough. An easy calculation shows that

$$\begin{split} \frac{1}{N-K+1} \sum_{k=K}^{N} (\widetilde{D}_k(x) - \widetilde{D}_K(x)) \\ &= \cos Kx \, \widetilde{F}_{N-K+1}(x) \\ &+ \left(\sin Kx \, F_{N-K+1}(x) - \frac{1}{2} \cos Kx \right) \quad (K, N \in \mathbb{N}), \end{split}$$

where F_n and \widetilde{F}_n denote the *n*th $(n \in \mathbb{N})$ Fejér and conjugate Fejér kernel respectively.

Then the upper estimate follows from $\|\widetilde{D}_n\|_1 \leq C \log(n+1)$ and from the uniform boundedness of $\|F_n\|_1$ $(n \in \mathbb{N})$.

For the lower estimate write

$$\widetilde{F}_{N-K+1}(x) = \frac{1}{N-K+1} \left(((N-K+1) - D_{N-K+1}(x)) \cot \frac{x}{2} + \widetilde{D}_{N-K+1}(x) \right).$$

Using $|D_n(x)| \le n/2$ ($x > \pi/n$) and $\|\widetilde{D}_n\|_1 \le C \log(n+1)$ ($n \in \mathbb{N}, n > 0$) again we have

$$\int_{0}^{\pi} \cos Kx \, \tilde{F}_{N-K+1}(x) \, dx \ge \frac{1}{2} \int_{\pi/(N-K+1)}^{\pi} |\cos Kx| \cot \frac{x}{2} \, dx$$
$$- C \frac{\log(N-K+1)}{N-K+1}$$
$$\ge C \log(N-K+1).$$

Consequently,

$$\frac{1}{N-K+1} \left\| \sum_{k=K}^{N} (\widetilde{D}_k - \widetilde{D}_K) \right\|_1 \ge C_2 \log(N-K+1). \blacksquare$$

LEMMA 3. Let $(c_k, k \in \mathbb{N})$ be a sequence of non-negative real numbers. Then

$$\lim_{\lambda \to 1^+} \overline{\lim}_{n \to \infty} \sum_{k=n+1}^{[\lambda n]} c_k \log^+(kc_k) = 0$$

implies

(8)
$$\lim_{\lambda \to 1^+} \overline{\lim}_{n \to \infty} \sum_{k=n+1}^{[\lambda n]} c_k \left(1 + \log^+ \frac{([\lambda n] - n)c_k}{\sum_{j=n+1}^{[\lambda n]} c_j} \right) = 0.$$

Proof. We use the fact that the sum in (8) can be associated with an Orlicz norm. Let L_M denote the Orlicz space generated by the Young function

$$M(x) = \begin{cases} (1/2)|x|^2 & \text{if } 0 \le |x| < 1, \\ 1/2 + |x| \log |x| & \text{if } |x| \ge 1. \end{cases}$$

For the definition and properties of Orlicz spaces we refer to [10]. It is known (see e.g. [6]) that

(9)
$$||h||_{L_M} \approx \int_0^1 |h| \left(1 + \log^+ \frac{|h|}{||h||_1}\right) \quad (h \in L_M).$$

Let χ_A stand for the characteristic function of $A \subset [0,1)$. If for a complex vector $(c_k)_j^l = (c_j, \ldots, c_l)$ the step function $\Gamma(c_k)_j^l$ is defined as follows:

$$\Gamma(c_k)_j^l = \sum_{k=1}^n c_k \chi_{[(k-j)(l-j+1)^{-1},(k-j+1)(l-j+1)^{-1})}$$

then (8) can be written in the form

$$\lim_{\lambda \to 1^+} \overline{\lim}_{n \to \infty} ([\lambda n] - n) \| \Gamma(c_k)_{n+1}^{[\lambda n]} \|_{L_M} = 0.$$

In order to prove this form of (8) we modify the c_k 's $(k \in \mathbb{N})$ as follows:

$$d_k = \begin{cases} c_k & \text{if } c_k \ge e/k, \\ e/k & \text{if } c_k < e/k, \end{cases} \quad (k \in \mathbb{N}, k > 0).$$

Since the Orlicz norms are monotonic, i.e. $||h||_{L_M} \le ||g||_{L_M}$ whenever $|h| \le |g| (h, g \in L_M)$, we have

$$\|\Gamma(c_k)_{n+1}^{[\lambda n]}\|_{L_M} \le \|\Gamma(d_k)_{n+1}^{[\lambda n]}\|_{L_M} \quad (n \in \mathbb{N}).$$

Recall that $d_k \ge e/k$ $(k \in \mathbb{N}, k > 0)$. Consequently, by (9) we have

$$\lim_{\lambda \to 1^+} \overline{\lim}_{n \to \infty} ([\lambda n] - n) \| \Gamma(d_k)_{n+1}^{[\lambda n]} \|_{L_M}$$

$$\leq \lim_{\lambda \to 1^+} \overline{\lim}_{n \to \infty} \sum_{k=n+1}^{[\lambda n]} d_k (1 + \log^+(nd_k))$$

$$\leq 2 \lim_{\lambda \to 1^+} \overline{\lim}_{n \to \infty} \sum_{k=n+1}^{[\lambda n]} d_k \log^+(k d_k)$$

$$\leq 2\lim_{\lambda \to 1^+} \overline{\lim}_{n \to \infty} \sum_{k=n+1}^{[\lambda n]} (c_k \log^+(kc_k) + e/k) = 0. \ lacksquare$$

Proof of Theorem 1. Suppose that $f \in L_1$ satisfies condition (1). In our proof of (i) we will need the concept of the generalized de la Vallée Poussin means, which are defined as

$$V_{\lambda,n}f = rac{1}{[\lambda n]-n+1} \sum_{k=n}^{[\lambda n]} S_k f \quad (n \in \mathbb{N}, \ \lambda > 1).$$

It is known that $\lim_{n\to\infty} \|V_{\lambda,n}f - f\|_1 = 0$ for any $f \in L_1$ and $\lambda > 1$. Therefore $\lim_{n\to\infty} \|S_nf - f\|_1 = 0$ is equivalent to

(10)
$$\lim_{\lambda \to 1^+} \overline{\lim}_{n \to \infty} ||V_{\lambda,n}f - S_nf||_1 = 0.$$

Since

$$V_{\lambda,n}f(t) - S_n f(t) = \frac{1}{[\lambda n] - n + 1} \sum_{k=n+1}^{[\lambda n]} \sum_{j=n+1}^{k} a_j \cos jt + \frac{1}{[\lambda n] - n + 1} \sum_{k=n+1}^{[\lambda n]} \sum_{j=n+1}^{k} b_j \sin jt = A_{\lambda,n}(t) + B_{\lambda,n}(t)$$

we see that (10) holds if and only if

$$\lim_{\lambda \to 1^+} \overline{\lim}_{n \to \infty} \|A_{\lambda,n}\|_1 = 0 \quad \text{and} \quad \lim_{\lambda \to 1^+} \overline{\lim}_{n \to \infty} \|B_{\lambda,n}\|_1 = 0.$$

Let us start with $A_{\lambda,n}$. By an Abel transfromation we have

(11)
$$A_{\lambda,n} = \frac{[\lambda n] - n}{[\lambda n] - n + 1} (-a_{n+1}) D_n$$

$$+ \frac{1}{[\lambda n] - n + 1} \sum_{k=n+1}^{[\lambda n] - 1} ([\lambda n] - k) \Delta a_k D_k$$

$$+ \frac{1}{[\lambda n] - n + 1} \sum_{k=n+1}^{[\lambda n]} a_k D_k$$

$$= A_{\lambda,n}^1 + A_{\lambda,n}^2 + A_{\lambda,n}^3.$$

To estimate the norm of the third term we use the well known inequality

(12)
$$\frac{1}{n} \left\| \sum_{k=1}^{n} c_k D_k \right\|_1 \le C \max_{1 \le k \le n} |c_k| \quad (c_k \in \mathbb{C}, \ n \in \mathbb{N})$$

that can be easily derived from (7). (For its original proof see [18].) Thus

$$||A_{\lambda,n}^3||_1 \le C \frac{\lambda}{\lambda - 1} \max_{n \le k \le |\lambda_n|} |a_k|.$$

Since $f \in L_1$ implies $a_k \to 0$ as $n \to \infty$,

$$\lim_{n \to \infty} ||A_{\lambda,n}^3||_1 = 0 \quad (\lambda > 1).$$

To estimate $||A_{\lambda,n}^2||_1$ let us reformulate (7) by using (9) as follows:

$$\left\| \sum_{k=K}^{N} c_k D_k \right\|_1 \le C \left(\log \frac{N}{N-K+1} \Big| \sum_{k=K}^{N} c_k \Big| + (N-K+1) \| \Gamma(c_k)_K^N \|_{L_M} \right)$$

 $(c_k \in \mathbb{C}, K, N \in \mathbb{N})$. Applying it to $A_{\lambda,n}^2$ we obtain

$$||A_{\lambda,n}^{2}||_{1} \leq C \frac{1}{[\lambda n] - n + 1} \log \frac{[\lambda n]}{[\lambda n] - n + 1} \left| \sum_{k=n+1}^{[\lambda n] - 1} ([\lambda n] - k) \Delta a_{k} \right| + C ||\Gamma(([\lambda n] - k) \Delta a_{k})_{n+1}^{[\lambda n] - 1}||_{L_{M}} = X_{1} + X_{2}.$$

It is easy to see that X_1 converges to 0. Indeed,

$$\begin{split} X_1 &= C \frac{1}{[\lambda n] - n + 1} \log \frac{[\lambda n]}{[\lambda n] - n + 1} \Big| \sum_{k=n+1}^{[\lambda n]} (a_{n+1} - a_k) \Big| \\ &\leq C \log \frac{\lambda}{\lambda - 1} \left(|a_{n+1}| + \frac{1}{[\lambda n] - n + 1} \sum_{k=n+1}^{[\lambda n]} |a_k| \right) \\ &\leq C \log \frac{\lambda}{\lambda - 1} \max_{n+1 \leq k \leq [\lambda n]} |a_k|. \end{split}$$

Then similarly to $||A_{\lambda,n}^3||_1$ we can conclude that $X_1 \to 0$ as $n \to \infty$ $(\lambda > 1)$. For X_2 we take advantage of the monotony of Orlicz norms. By (9) we have

$$X_{2} \leq C([\lambda n] - n - 1) \| \Gamma(\Delta a_{k})_{n+1}^{[\lambda n] - 1} \|_{L_{M}}$$

$$\leq C \sum_{k=n+1}^{[\lambda n] - 1} |\Delta a_{k}| \left(1 + \log^{+} \frac{([\lambda n] - n - 1) |\Delta a_{k}|}{\sum_{j=n+1}^{[\lambda n] - 1} |\Delta a_{j}|} \right).$$

Thus by Lemma 3 it is clear that (1) implies

$$\lim_{\lambda \to 1+} \overline{\lim}_{n \to \infty} \|A_{\lambda,n}^2\|_1 = 0.$$

Finally, it is obvious that $\lim_{\lambda \to 1^+} \overline{\lim}_{n \to \infty} ||A_{\lambda,n}^1||_1 = 0$ if and only if $\lim_{n \to \infty} |a_n| \log n = 0$. In summary, if (1) holds for $f \in L_1$ then

$$\lim_{\lambda \to 1^+} \overline{\lim_{n \to \infty}} \, \|A_{\lambda,n}\|_1 = 0 \quad \text{if and only if} \quad \lim_{n \to \infty} |a_n| \log n = 0.$$

To reach the same conclusion for $B_{\lambda,n}$ we need a slight modification of the

above method. We begin with the decomposition that corresponds to (7), i.e.

$$B_{\lambda,n} = \frac{[\lambda n] - n}{[\lambda n] - n + 1} (-b_{n+1}) \widetilde{D}_n + \frac{1}{[\lambda n] - n + 1} \sum_{k=n+1}^{[\lambda n]} ([\lambda n] - k) \Delta b_k \widetilde{D}_k$$
$$+ \frac{1}{[\lambda n] - n + 1} \sum_{k=n+1}^{[\lambda n]} b_k \widetilde{D}_k.$$

Observe that to estimate the middle term we can only use Lemma 1 if the sum of the coefficients is zero. To this end let us modify the above decomposition. Noticing that

$$\sum_{k=n+1}^{[\lambda n]} ([\lambda n] - n) \Delta b_k = \sum_{k=n+1}^{[\lambda n]} (b_{n+1} - b_k)$$

we have

$$\begin{split} B_{\lambda,n} &= b_{n+1} \frac{1}{[\lambda n] - n + 1} \sum_{k=n}^{[\lambda n]} (\widetilde{D}_k - \widetilde{D}_n) \\ &+ \frac{1}{[\lambda n] - n + 1} \\ &\times \sum_{k=n+1}^{[\lambda n]} \left(([\lambda n] - k) \Delta b_k - \frac{1}{[\lambda n] - n} \sum_{j=n+1}^{[\lambda n]} (b_{n+1} - b_j) \right) \widetilde{D}_k \\ &+ \frac{1}{[\lambda n] - n + 1} \sum_{k=n+1}^{[\lambda n]} \left(b_k - \frac{1}{[\lambda n] - n} \sum_{j=n+1}^{[\lambda n]} b_j \right) \widetilde{D}_k \\ &= B_{\lambda,n}^1 + B_{\lambda,n}^2 + B_{\lambda,n}^3. \end{split}$$

We can basically use the same considerations as for the corresponding $A_{\lambda,n}^{j}$ (j=1,2,3) terms. Indeed, by Lemma 1, (9) and again using the monotony of the Orlicz norms we have

$$||B_{\lambda,n}^3||_1 \le C \left\| \Gamma \left(b_k - \frac{1}{[\lambda n] - n} \sum_{j=n+1}^{[\lambda n]} b_j \right)_{n+1}^{[\lambda n]} \right\|_{L_M} \le C \max_{n+1 \le k \le [\lambda n]} |b_k|.$$

Hence, similarly to $||A_{\lambda,n}^3||_1$, we infer

$$\lim_{n\to\infty} \|B_{\lambda,n}^3\|_1 = 0 \quad (\lambda > 1).$$

To estimate $||B_{\lambda,n}^2||_1$ first observe that the sum of the coefficients is zero and $||h-||h||_{1,Y[0,1)}||_{L_M} \le 2||h||_{L_M} \quad (h \in L_M).$

Then using Lemma 1 and following the steps applied for the estimation of X_2 in $||A_{\lambda,n}^2||_1$ we find that the hypothesis of Theorem 1 implies

$$\lim_{\lambda \to 1^+} \overline{\lim}_{n \to \infty} ||B_{\lambda,n}^2||_1 = 0.$$

Finally, by Lemma 2 we have

$$C_1 b_{n+1}(\log(\lambda - 1) + \log n) \le ||B_{\lambda,n}^1||_1 \le C_2 b_{n+1}(\log(\lambda - 1) + \log n)$$

for n large enough. Consequently, $\lim_{\lambda \to 1^+} \overline{\lim}_{n \to \infty} \|B^1_{\lambda,n}\|_1 = 0$ is equivalent to $\lim_{n \to \infty} \|B^1_{\lambda,n}\|_1 = 0$ ($\lambda > 1$). Clearly, for the latter it is necessary and sufficient that $\lim_{n \to \infty} b_n \log n = 0$.

In summary, we have

$$\lim_{\lambda \to 1^+} \overline{\lim}_{n \to \infty} ||B_{\lambda,n}||_1 = 0 \quad \text{if and only if} \quad \lim_{n \to \infty} b_n \log n = 0.$$

Part (i) of Theorem 1 is proved.

In order to prove (ii) write

$$S_n f(x) = \sum_{k=0}^n \Delta a_k \, D_k(x) + \sum_{k=1}^n \Delta b_k \, \widetilde{D}_k(x) + (a_{n+1} D_n(x) + b_{n+1} \widetilde{D}_n(x)).$$

Then

$$2\sin\frac{x}{2}S_n f(x) = \left(\sum_{k=0}^n \Delta a_k \sin\left(\frac{2k+1}{2}x\right) + \sum_{k=1}^n \Delta b_k \cos\left(\frac{2k+1}{2}x\right)\right) + \left(a_{n+1}\sin\left(\frac{2n+1}{2}x\right) - b_{n+1}\cos\left(\frac{2n+1}{2}x\right) + b_1\cos\frac{x}{2}\right) = A_n(x) + B_n(x).$$

By (i) we know that the left side converges to an integrable function h as $n \to \infty$, where $h(x) = 2\sin(x/2)f(x)$ ($0 < |x| \le \pi$). We will show that the right side is convergent in the norm of L_2 . Hence $h \in L_2$, which was to be proved.

Obviously, $\lim_{n\to\infty} B_n(x) = 0$ uniformly in x.

On the other hand, A_n converges in the norm of L_2 if and only $\sum_{k=1}^{\infty} (|\Delta a_k|^2 + |\Delta b_k|^2) < \infty$. It is easy to see that if (1) holds then

$$\overline{\lim}_{n\to\infty}\sum_{k=n+1}^{2n}|\Delta a_k|\log^+(k|\Delta a_k|)<\infty.$$

Moreover, we may suppose that

(13)
$$\sum_{k=n+1}^{2n} |\Delta a_k| \log^+(k|\Delta a_k|) < \frac{1}{2} \quad (n \in \mathbb{N}).$$

For $i, n \in \mathbb{N}$ define

$$\Omega_{j,n} = \{k \in \mathbb{N} : 2^{-j-1} < |\Delta a_k| \le 2^{-j}, \ 2^n < k \le 2^{n+1}\}.$$

Then by (13) we have

$$|\Omega_{j,n}| \frac{n-j-1}{2^{j+1}} \le \sum_{k \in \Omega_{j,n}} |\Delta a_k| \log^+(k|\Delta a_k|) \le \frac{1}{2} \quad (j \in \mathbb{N}).$$

 $(|\Omega_{j,n}| \text{ denotes the cardinality of } \Omega_{j,n}.)$ Hence we infer $|\Omega_{j,n}| \leq 2^j/(n-j-1)$ (j < n-1).

As a consequence of (13) we see that $|\Delta a_k|$ cannot be too large. Indeed, $\Omega_{j,n} = \emptyset$ for any $j < [\log n] \ (n \ge 2)$. Thus

$$\begin{split} \sum_{k=2^n+1}^{2^{n+1}} |\Delta a_k|^2 &= \sum_{j=[\log n]}^{\infty} \sum_{k \in \Omega_{j,n}} |\Delta a_k|^2 \\ &\leq \sum_{j=[\log n]}^{[2n/3]} |\Omega_{j,n}| \bigg(\frac{1}{2^j}\bigg)^2 + 2^n \bigg(\frac{1}{2^{[2n/3]}}\bigg)^2 \\ &\leq \sum_{j=[\log n]}^{[2n/3]} \frac{1}{2^j (n-j-1)} + \frac{4}{2^{n/3}} \\ &\leq C \bigg(\frac{1}{n} \sum_{j=[\log n]}^{[2n/3]} \frac{1}{2^j} + \frac{1}{2^{n/3}}\bigg) \leq C \frac{1}{n^2}. \end{split}$$

In a similar way we can show that $\sum_{k=1}^{\infty} |\Delta b_k|^2 < \infty$. The proof of Theorem 1 is complete.

Proof of Theorem 2. First we note that $S \supset \mathcal{L}_1$ is trivial. Suppose now that (2) holds for $(\widehat{f}(k), k \in \mathbb{Z})$ where $f \in L_1$. Then, as mentioned in Remark 3, there exist p > 1 and C > 0 such that

(14)
$$\sum_{|k|=n+1}^{[\lambda n]} |k|^{p-1} |\Delta \widehat{f}(k)|^p < C \quad (n \in \mathbb{N}, \ 1 < \lambda \le 2).$$

Let 1 < q < p, and let $x_q > 1$ be such that $x \log x \le x^q$ whenever $x \ge x_q$. Then

$$\sum_{|k|=n+1}^{[\lambda n]} |\Delta \widehat{f}(k)| \log^+ |k\Delta \widehat{f}(k)| \le C(\lambda - 1) \sum_{|k|=n+1}^{[\lambda n]-n} \frac{(|k\Delta \widehat{f}(k)| + x_q)^q}{[\lambda n] - n}$$

$$\le 2^p C(\lambda - 1) \sum_{|k|=n+1}^{[\lambda n]-n} \frac{|k\Delta \widehat{f}(k)|^q}{[\lambda n] - n} + 2^p (\lambda - 1) x_q^q.$$

Clearly, the second term tends to 0 as $\lambda \to 1^+$. For the first term, by (14) we have

$$(\lambda - 1) \sum_{|k|=n+1}^{[\lambda n]-n} \frac{|k\Delta \widehat{f}(k)|^q}{[\lambda n] - n} \le (\lambda - 1) \left(\sum_{|k|=n+1}^{[\lambda n]-n} \frac{|k\Delta \widehat{f}(k)|^p}{[\lambda n] - n} \right)^{q/p}$$

$$\le C(\lambda - 1)^{1-q/p} \left(\sum_{|k|=n+1}^{[\lambda n]-n} |k|^{p-1} |\Delta \widehat{f}(k)|^p \right)^{q/p}$$

$$\le C(\lambda - 1)^{1-q/p}.$$

Consequently, $S \supseteq \bigcup_{p \ge 1} \mathcal{L}_p$. In order to show that the inclusion is proper we use the sequences constructed by Grow and Stanojević in [7] when discussing the relation between \mathcal{L}_1 and $\bigcup_{p>1} \mathcal{L}_p$. Namely, let

$$c_k^{(1)} = \begin{cases} 1/\log^2|k| & \text{if } |k| = 2^n, \ n \in \mathbb{N}, \\ 0 & \text{otherwise,} \end{cases} \quad c_k^{(2)} = \begin{cases} 1/|k| & \text{if } |k| \text{ even } k \neq 0, \\ 0 & \text{otherwise.} \end{cases}$$

It is shown in [7] that

$$c^{(1)} \in \mathcal{L}_1 \setminus \bigcup_{p>1} \mathcal{L}_p$$
 and $c^{(2)} \in \bigcup_{p>1} \mathcal{L}_p \setminus \mathcal{L}_1$.

Let $c = c^{(1)} + c^{(2)}$. We conclude from $S \supseteq \bigcup_{p \ge 1} \mathcal{L}_p$ that both $c^{(1)}$ and $c^{(2)}$ belong to S. Hence, $c \in S$. On the other hand, since

$$|\Delta c_k| \ge \frac{1}{2} \max\{|\Delta c_k^{(1)}|, |\Delta c_k^{(2)}|\}$$

for k large enough, we have $c \notin \bigcup_{p>1} \mathcal{L}_p$. Consequently,

$$c \in \mathcal{S} \setminus \bigcup_{p \geq 1} \mathcal{L}_p$$
.

References

- [1] B. Aubertin and J. J. F. Fournier, Integrability theorems for trigonometric series, Studia Math. 107 (1993), 33-59.
- [2] R. Bojanic and Č. Stanojević, A class of L¹ convergence, Trans. Amer. Math. Soc. 269 (1982), 677-683.
- [3] W. O. Bray and Č. Stanojević, Tauberian L₁-convergence classes of Fourier series II, Math. Ann. 269 (1984), 469-486.
- [4] C. P. Chen, L¹-convergence of Fourier series, J. Austral. Math. Soc. Ser. A 41 (1986), 376-390.
- G. A. Fomin, A class of trigonometric series, Mat. Zametki 23 (1978), 213-222 (in Russian).
- [6] S. Fridli, An inverse Sidon type inequality, Studia Math. 105 (1993), 283-308.



- [7] D. E. Grow and Č. V. Stanojević, Convergence and the Fourier character of trigonometric transforms with slowly varying convergence moduli, Math. Ann. 302 (1995), 433-472.
- [8] B. S. Kashin and A. A. Saakyan, Orthogonal Series, Nauka, Moscow, 1984 (in Russian).
- [9] A. N. Kolmogorov, Sur l'ordre de grandeur des coefficients de la série de Fourier-Lebesque, Bull. Internat. Acad. Polon. Sci. Lettres Sér. (A) Sci. Math. 1923, 83-86.
- [10] M. A. Krasnosel'skiĭ and Ya. B. Rutickiĭ, Convex Functions and Orlicz Spaces, Noordhoff, Groningen, 1961.
- [11] F. Schipp, Sidon-type inequalities, in: Approximation Theory, Lecture Notes in Pure and Appl. Math. 138, Marcel Dekker, New York, 1992, 421–436.
- [12] F. Schipp, W. R. Wade and P. Simon (with assistance from J. Pál), Walsh Series, Adam Hilger, Bristol, 1990.
- [13] S. Sidon, Hinreichende Bedingungen für den Fourier-Charakter einer trigonometrischen Reihe, J. London Math. Soc. 14 (1939), 158-160.
- [14] Č. V. Stanojević, Tauberian conditions for the L₁-convergence of Fourier series, Trans. Amer. Math. Soc. 271 (1982), 234-244.
- [15] —, Structure of Fourier and Fourier-Stieltjes coefficients of series with slowly varying convergence moduli, Bull. Amer. Math. Soc. 19 (1988), 283-286.
- [16] Č. V. Stanojević and V. B. Stanojević, Generalizations of the Sidon-Telyakovskii theorem, Proc. Amer. Math. Soc. 101 (1987), 679-684.
- [17] N. Tanović-Miller, On integrability and L¹ convergence of cosine series, Boll. Un. Mat. Ital. B (7) 4 (1990), 499-516.
- [18] S. A. Telyakovskii, On a sufficient condition of Sidon for the integrability of trigonometric series, Mat. Zametki 14 (1973), 317-328 (in Russian).
- [19] W. H. Young, On the Fourier series of bounded functions, Proc. London Math. Soc. (2) 12 (1913), 41-70.
- [20] A. Zygmund, Trigonometric Series, University Press, Cambridge, 1959.

Deptartment of Numerical Analysis Eötvös L. University Múzeum krt. 6-8 1088 Budapest, Hungary E-mail: fridli@ludens.elte.hu

Received October 23, 1996
Revised version January 30, 1997

(3761)

STUDIA MATHEMATICA 125 (2) (1997)

On strong generation of $B(\mathcal{H})$ by two commutative C^* -algebras

by

R. BERNTZEN (Münster) and A. SOLTYSIAK (Poznań)

Abstract. The algebra $B(\mathcal{H})$ of all bounded operators on a Hilbert space \mathcal{H} is generated in the strong operator topology by a single one-dimensional projection and a family of commuting unitary operators with cardinality not exceeding dim \mathcal{H} . This answers Problem 8 posed by W. Żelazko in [6].

Let \mathcal{H} be a complex Hilbert space and let \mathcal{S} be a subset of the algebra $B(\mathcal{H})$ of all bounded linear operators on \mathcal{H} . We say that the algebra $B(\mathcal{H})$ is strongly generated by \mathcal{S} if the smallest subalgebra of $B(\mathcal{H})$ closed in the strong operator topology and containing \mathcal{S} coincides with $B(\mathcal{H})$. The first result on the strong generation of $B(\mathcal{H})$ was given by C. Davis in [2]. He proved, in the case when the Hilbert space \mathcal{H} is separable, that the algebra $B(\mathcal{H})$ is strongly generated by two unitary operators. Later, E. Nordgren, M. Radjabalipour, H. Radjavi, and P. Rosenthal have shown ([3]) that two Hermitian operators strongly generate $B(\mathcal{H})$, which implies that $B(\mathcal{H})$ is singly generated as a von Neumann algebra. See also [5], pp. 160–163, for other results concerning generation of $B(\mathcal{H})$ when \mathcal{H} is separable. These results show that for a separable Hilbert space \mathcal{H} the algebra $B(\mathcal{H})$ is strongly generated by two commutative C^* -algebras. In [6] W. Zelazko raised the following

PROBLEM. Is the algebra $B(\mathcal{H})$ of all operators on a complex Hilbert space \mathcal{H} always generated in the strong operator topology by two commutative C^* -algebras?

We show that the answer to this question is positive. Namely we prove the following

THEOREM. Let $\mathcal H$ be a complex Hilbert space. The algebra $B(\mathcal H)$ is strongly generated by a single one-dimensional (orthogonal) projection and a commuting family of unitary operators with cardinality not exceeding dim $\mathcal H$.

¹⁹⁹¹ Mathematics Subject Classification: Primary 47D25; Secondary 47C15, 47A15. Research supported by the Heinrich Hertz-Stiftung.